C:# Comparing Fraction Relative Size Name:

Solve each problem. Answer with the fraction.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Which is shorter? 1/5 of an meter or 3/5 of ameter?

Which has more people? A football stadium when it is 7 full or whenit is 7, full?
Which would feed more people? 2/3 of agrapeor 1/3 of awatermelon?

Which is heavier? 3/5 of agram or 4/5 of agram?

A homedriveway is 2/3 full. A Wal-Mart parking lot is 1/3 full. Which has more cars?
Which islighter? A shopping cart that is 4/7 full of sodas or a shopping cart that is 2/7 full

of sodas?

. .1 ,
Which is the shorter? A glass of water that is /, of afoot tall or a glass of lemonade that is
2
/, of afoot tall?

1
Whichislighter? A grocery bag of bowling balls that is /9 full or agrocery bag of
feathers that is 7 full?

3 2
A Wal-Mart parking lot is 7, full at 3pm and 7/ full at 4pm. Which amount is less?
5 4
Jogger A ran /6 of amilein 10 minutes. Jogger B ran /6 of amilein 10 minutes. Which
isthe greater distance?
6 4
Which has more water? A pond that is /5 full or apond that is /7 full?
7
A jogger isrunning /9fuII speed. A car isdriving 6/9fuII speed. Which is slower?
1 2
Which has more water? A swimming pool that is /3 full or aglassthat is 7/ full?

2 4
Which has fewer people? A football stadium that is /g full or a classroom that is /g full?

3 1
A lawn mower gastank is /5 full. Anarplane gastank is /5fuII. Which will take shorter
time to fill un?

10.

11

12.

13.

14.

15.

Answers
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Ch Comparing Fraction Relative Size Name: Answer Key

Solve each problem. Answer with the fraction.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

Which is shorter? 1/5 of an meter or 3/5 of ameter?

Which has more people? A football stadium when it is 7 full or whenit is 7, full?
Which would feed more people? 2/3 of agrapeor 1/3 of awatermelon?

Which is heavier? 3/5 of agram or 4/5 of agram?

A homedriveway is 2/3 full. A Wal-Mart parking lot is 1/3 full. Which has more cars?
Which islighter? A shopping cart that is 4/7 full of sodas or a shopping cart that is 2/7 full

of sodas?

. .1 ,
Which is the shorter? A glass of water that is /, of afoot tall or a glass of lemonade that is

2
/, of afoot tall?

1
Whichislighter? A grocery bag of bowling balls that is /9 full or agrocery bag of

feathers that is 7 full?

3 2
A Wal-Mart parking lot is 7, full at 3pm and 7/ full at 4pm. Which amount is less?
5 4
Jogger A ran /6 of amilein 10 minutes. Jogger B ran /6 of amilein 10 minutes. Which
isthe greater distance?
6 4
Which has more water? A pond that is /5 full or apond that is /7 full?
7
A jogger isrunning /9fuII speed. A car isdriving 6/9fuII speed. Which is slower?
1 2
Which has more water? A swimming pool that is /3 full or aglassthat is 7/ full?

2 4
Which has fewer people? A football stadium that is /g full or a classroom that is /g full?

3 1
A lawn mower gastank is /5 full. Anarplane gastank is /5fuII. Which will take shorter
time to fill un?

10.

11

12.

13.

14.

15.

Answers
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